Physics  Practice Problems 6-5 and concept review 6-2

1. Find the resultant force on the log in the last Example Problem if F1 remains the same and F2 is changed to 14.0 N at 310.00.

2. Three people are pulling on a tree. The first person pulls with 15 N at 65.00; the second with 16 N at 1350; the third with 11 N at 1950, What is the magnitude and direction of the resultant force on the tree?

3. 
Joanne pulls on a trunk with a 12-N force. Bev pulls at right angles to Joanne. How hard must Bev pull to make the resultant force on the trunk 13 N?

4. Could you ever have a resultant vector shorter than one of its com​ponents? equal to a component? Explain.

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

5. 
You have chosen axes with east and north positive. Angles are mea​sured from the east axis. For what range of angles is the east-west component of a vector positive? For which angles is the east-west component of a vector negative?

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

6.  You are piloting a boat that crosses a fast-moving river. You want to reach a pier directly across from your starting point. Describe how you would select your heading in terms of the components of your velocity.

___________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________

